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ALGOBULLES

↓ – ↑ = idTrouvez 3
solutions

(↓ – ↑) (23518) = 85321 – 12358 = 72963

id (23518) = 23518

⇒↓ – ↑ ≠ id
(contre)
exemple
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3 ×→ = idTrouvez 3
solutions

3 ×→ (83514) = 3 × 48351 = 145053

id (83514) = 83514

⇒3×→≠ id
(contre)
exemple

+. ! = idTrouvez 4
solutions

+. ! (145) = 1 ! + 4 ! + 5 ! = 1 + 24 + 120 = 145

id (145) = 145

⇒ +. ! = id
(contre)
exemple
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+. = idTrouvez 4
solutions

(+. ) (245) = 23 + 43 + 53 = 197

id (245) = 245

⇒+. ≠ id
(contre)
exemple

. + = idTrouvez 4
solutions

(       . +) (245) = (2 + 4 + 5)3 = 1331

id (245) = 245

⇒ .+ ≠ id
(contre)
exemple


